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1. Put the start node s in OPEN.

Note Title 2014-03-04

2. If OPEN is empty, exit with failure.
3. Remove from OPEN and place in CLOSED a node n for which f(n) is minimum.

4. If n is a goal node, exit with the solution obtained by tracing back

pointers from n to s.
5. Expand n, generating all of its successors. For each successor n' of n:
a. Compute g'(n'); compute f'(n')=g'(n")+h(n")

b. if n' is already on OPEN or CLOSED and g'(n)<g(n"), let g(n')=g'(n’), let f(n")=Ff'(n"),
redirect the pointer from n' to n and, if n' is on CLOSED, move it to OPEN.

c. if n' is neither on OPEN nor on CLOSED, let f(n')=Ff'(n"), attach a pointer from n' to n, and '
place n' on OPEN.

6. Go to 2.
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